Q.16 Which passage do you find more effective in making you think about the implications for the human race of comet and asteroid impact? 

Justify your choice by referring to the ideas and style of both passages.
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By this stage of the exam, many candidates are simply not in a position to answer this question. Why?

· they have wasted time over- explaining when all they had to do was ‘identify’

· they have wasted time repeating the questions in their answers

· they have wasted time waffling around analysis instead of getting straight to the point

· they have wasted time agonising over analysis questions that they should just have left behind until the end

· they haven’t kept an eye on the clock

Bizarrely, many candidates even harbour the notion that they ‘can’t do’ evaluation questions, and so subconsciously dismiss them.

But hang on a minute! EVALUATION QUESTIONS ARE GOLD-DUST!

Why?

After all…

· there is no right or wrong answer!

· you have been looking at these passages for well over an hour – surely you have an opinion!

· the question always directs you towards what to look for (in this case, the styles and ideas of the writers, things that are repeatedly covered in the questions!)

· they are always worth LOADS of marks!

These are the BIG MONEY questions…don’t neglect them!

Handy hints for tackling the last question:

Before you read a single word of your exam paper…. Read the last question CAREFULLY, and underline on your question paper the KEY WORDS on which the question focuses.

As you read for the first time, you should be able to develop initial feelings and opinions about the style and content of the passages, and should be able to think ahead to the last question. 

As you move through the paper, mark with an asterisk (*) questions that relate directly to the STYLE of the passages. These are usually analysis questions that ask about word choice, sentence structure, imagery, tone. Understanding questions deal with the IDEAS of the passage. Your answers will be helpful for the last question.

Make sure you have begun to tackle the last question by 10.15am. That way, you will have time to spend 5 minutes on the last question, and leave about 10 minutes to check your answers and revisit any ‘difficult’ questions.

Some candidates feel that time is running out at this point. Don’t worry – you are not marked down for poor expression and spelling in this paper (although, of course, you should aim to be as accurate as you can!). If you feel that it is more appropriate, you can use headings and bullet points to quickly jot down your answers in a way that does not require you to think about sentence structure and linkage. As you go along, though, try to make the contrasts and comparisons between the passages obvious to the examiner.

Peer Assessment

Candidate 1

I find passage 1 is more effective in making me think about the implications of asteroid or comet impact, partly because it takes the issue more seriously. It ends on a serious note – questioning how we take the issue forward and suggesting that we take action on it; whereas passage 2 ends on an anecdote about betting, which, though entertaining, belies the gravity of the issue. 

I feel that passage 1 also deals more fully with the history of scientific discovery about asteroids, detailing their effect on the shaping of the planet and on evolution, whereas passage 2 deals with this in a single sentence: “Giant meteors hitting the planet could have delivered chemicals which kick-started the earth.”

On the other hand, passage 2draws much more on other people’s views and ideas, quoting an expert, an MP, the director of “Spaceground”, and even a bookkeeper. Passage 1 however only gives the author’s opinion, giving a less full view of the debate and lacking appoint of contact with the ideal world, and with action being taken by people today.

At the end of the day however, passage 1 has more authority precisely because of the difference, since it gives the impression of a genuine scientist who can be trusted to present the issue objectively, not having to entertain tabloid newspaper readers with impressive statistics and subjective headlines. Contrast “The Threat of Comets and Asteroids” with “Asteroids Could Blast Us back To Dark Ages”. By using the word “us “, newspaper headline makes the article more emotionally significant, but at the expense of the authority of objectivity.

Candidate 2

I personally prefer the second passage because the writer is not biased in opinion. The writer provides facts to back up his statements, which help the reader to understand where he is coming from. Both passages agree that the effects of an asteroid are devastating and that something must be done to save the human race. I enjoyed the final paragraph in the second paragraph because of its humorous tone after writing such a serious article

Candidate 3

I find passage 1 more effective. It is written much more formally which engages the reader to try and understand the viewpoint of the writer. It is this factor along with the view that passage is from a tabloid, which makes the first passage more believable and as a result makes you consider the consequences of what might happen if the earth was hit by an asteroid. Passage 1 also was more effective as it explored the actions that could be taken eg sit back and let it happen or fight it whereas passage 2 only explored the consequences. It is for this reason also that passage 1 made me think as you feel more involved and it was almost giving you a choice to make about what you would do if this catastrophe happened whereas passage 2 just made you feel as if there was nothing that could be done and that we are all going to die.

Marking Comments

Candidate 1

· intelligent comments about the ideas of both passages

· refers well to the question

· evaluative comment convincing

· 5 marks

Candidate 2

· some basic understanding of one fact

· weak comments on “facts” and “tone”

· weak evaluative comment

· one or two relevant but unconvincing comments
· 1 mark
Candidate 3

· understanding of both passages, but not enough to show clear understanding

· comments on style are not developed

· some evaluative comment

· takes account of the question

· 3 marks

The Last Question

This question is guaranteed to turn up.

You must deal with both passages for full marks.

Here are some possible angles to approach your answer (which will be longer of course, deal with both passages and contain regular quotes and/or examples).

· I prefer the first passage because it is more personal while passage 2 is too factual and statistical.

· I prefer the first passage because it is humorous whereas the 2nd is a bit serious and scientific.

· the 1st is more modern in terms of language and ideas; the 2nd is too old fashioned in my opinion.

· the 1st tries to provide answers, while the second only seems to ask questions.

· the 1st is better because it is optimistic in tone; the tone of the second is more negative.

Now you follow up on your promising first sentence!







